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Here are two shapes on a square grid.

For each shape, write how many right angles it has.
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Here is a doubling sequence.

Write the three missing numbers.
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Total out of 59

Hayley makes a sequence of numbers.

Her rule is

‘find half the last number then add 10’

Write in the next two numbers in her sequence.

36 28 24

7

Here is the net of a cube with no top.

The shaded square shows the bottom of the cube.

Draw an extra square to make the net of a cube which
does have a top.
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In this sequence each number is double the previous
number.

Write in the missing numbers.

3 6 12 24 48

16

Here are the start and finish times of some children
doing a sponsored walk.

How much longer did Claire take than Tim?

minutes
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Total out of 49

10 Here is a repeating pattern of shapes.

Each shape is numbered.

The pattern continues in the same way.

Write the numbers of the next two stars in the pattern.

Complete this sentence.

Shape number 35 will be a circle because ...

1 2 3 4 5 6 7 8 9 10

and 10a

1 mark

10b

1 mark

Total out of 49
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10 Here is a repeating pattern of shapes.

Each shape is numbered.
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The first two numbers in this sequence are 2.1 and 2.2

The sequence then follows the rule

‘to get the next number, add the two previous numbers’

Write in the next two numbers in the sequence.

2.1 2.2 4.3 6.5

17

Here is a rectangle with 13 identical shaded squares
inside it.

What fraction of the rectangle is shaded?
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The first two numbers in this sequence are 2.1 and 2.2

The sequence then follows the rule

‘to get the next number, add the two previous numbers’

Write in the next two numbers in the sequence.
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Write the numbers of the next two stars in the pattern.

Janine says:

“Shape number 35 will be a circle”

Explain why Janine is correct.

[2 marks]
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The first two numbers in this sequence are 2.1 and 2.2

The sequence then follows the rule
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Write in the next two numbers in the sequence.

2.1 2.2 4.3 6.5

17

Here is a rectangle with 13 identical shaded squares
inside it.

What fraction of the rectangle is shaded?

18

17ii

2 marks

17i

18

1 mark

[2 marks]

5
5

[2003]

19 Total out of 5

A sequence of numbers starts at 11 and follows the rule

‘double the last number and then subtract 3’

11 19 35 67 131 ...

The sequence continues.

The number 4099 is in the sequence.

Calculate the number which comes immediately 
before 4099 in the sequence.
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